Constante

fkdxzkx+C

Potencia

XM+l
fxm-dx= +c m=#-1
m+1

Potencia de exponente
menos uno

dx
f—= In|x| + C
X

Reciproco de Raiz
cuadrada

fﬁ_ dx =vVx +c¢

Exponencial
natural

fex-dx=ex+c

Exponencial

ax

a*-dx=—x+c¢c a>0
Ina

Coseno

Seno

sihx-dx = —cosx + ¢

fcosx dx =sinx +c¢

Secante cuadrada

fseczxdx = tanx + C




Cosecante cuadrada

fcsczxdx = —cotx + C

Secante por tangente

fsecxtanxdx =secx+C

Cosecante por cotangente

fcscx cotx =—cscx+C

Arco seno

-dx = arcsenx + ¢

J o=

Arco tangente

1
f—-dx:a*rctanx+c
1+ x2

Arco secante

1
f—dx =arcsecx+C
|x|Vx2 —1




